BHARAT COKING COAL LIMITED

(A Subsidiary of Coal India Limited)
Office of the Chief Mining Engineer
NT-ST Colliery: Lodna Area

Ref. No. BCCL/LA/NTC/Survey/NIT/2010-11/102

Dated: 10-11/06/2010

NOTICE INVITING TENDER

Sealed tender are invited from the experienced, reputed, resourceful and registered contractors for the following works under Lodna Area, Details are as under:-

Sl.	Name of the works	Estimated cost	E.M. to be	Cost of	Time of
No.	to be done	(Approved)	Deposite	Tender	completion
				Paper	
1.	Building of RCC	Rs. 4,13,503.40	Rs. 4,135.00	Rs. 250.00	3 Month
	Stopping for				
	Sectionlisation of IV				
	seam bottom section				
	NTC under Lodna				
	Area.				

Tender document (non-refundable) will be issued to the contractors or their authorized representative from the office of the CME/Project officer, NT-ST Colliery, Lodna Area from 02/07/2010 to 03/07/2010.

The document can be issued on payment of non-refundable Application Fee of Rs. 250/- (Rupees Two Hundred Fifty) only in the form of cash per tender document to be paid to the Sr. F.O./Cashier, NT-ST Colliery, Lodna Area or Cashier, Lodna Area and Production of the requisite Money Receipt.

Complete Sealed tender document in two parts (Part 'A') and price bid (Part 'B') i.e. Technical/commercial; bid (Part 'A') and price bid (Part 'B') will be received by the tender committee on 05/07/2010 upto 3.00 P.M. and shal be opened on the same day i.e. on upto 3.30 P.M.

(A) ELIGIBLE CRITERIA:

1. (a) The intending tender must have in its name as prime contractor experience of having successful completed similar works during 7(seven) years ending last day of

the month previous to the one in which bid applications are invited (i.e. eligibility period) should be either of the following:-

Three similar completed works each costing not less than the amount equal to 40% of the estimated cost.

OR

Two similar completed works each costing not less than the amount equal to 50% of the estimated cost.

OR

One similar completed works each costing not less than the amount equal to 80% of the estimated cost.

The terms similar nature means experience in surface civil & mining work.

1. (b) Average annual financial turn over of civil works during the last 3(three) years, ending of the previous financial year, should be at last 30% of the estimated cost.

The intending tenderer must submit documentary evidence in support of (4)

- (a) & above in the form of certified copy of work order, completion certificate, payment certificates/vouchers, indicating the period of work for which the payment has been made duly signed by him/them.
- 2. In case where tender documents are requested for transmission by post, these should be dispatched by registered A.D. The department is not responsible for any postal delay in such cases.
- 3. The earnest money is to be deposited as per detail given in the tender documents.
- 4. Credential copy of TIN No.
- 5. The tenederers have to submit Permanent Account No. of Income Tax (PAN No.)
- 6. Conditional tenders will not be accepted.
- 7. Issuance of tender documents does not mean that the parties are considered qualified.
- 8. Firm Registration/or Partnership deed & power of Attorney/Affidavit regarding proprietorship/Article of Association.
- 9. Every tenderer is required to give an Affidavit in the proforma given in the tender document on Non-Judicial Stamp Paper.
- 10. The experience as given in the eligibility criteria should be in the name and style in which tender is filled. The experience in the name of some other firm/company will not be considered for this purpose.
- 11. The validity of the tender will be 120 days from the date of opening price bid or revised price bid, if any.

- 12. The management of BCCL reserves right to reject any or all tender or split the work among two or more tenderers with out assigning any reasons whatsoever.
- 13. Other details may be obtained from tender notice/tender documents/website no. http://bccl.cmpdi.co.in.
- 14. Tenderers are required to deposit along with their tender, a Bank Draft of any Nationalized/Schedule Commercial Bank payable at Dhanbad exclusively towards the cost of Tender Document for the amount indicated as above, in a separate envelope. Any Bank Draft, prepared after the scheduled closure of sale of Tender Documents i.e. 03.07.2010 may be liable for rejection.
- 15. The contents of the Tender Documents available for sale in our offices, shall be deemed as authenticated and the responsibility of errors and omissions in the downloaded documents will lie with the tenderer.

Copy to:

- 1. All CGMs, Area of BCCL.
- 2. GM (System), BCCL for logging of NIT, Tender Document & BOQ on Website.
- 3. C.V.O., BCCL, Koyla Bhawan.
- 4. General Manager (Const.) CED, BCCL, Koyla Bhawan.
- 5. Addl, GM\AFM/Lodna Area
- 6. Supdt. Engr. (C), Lodna Area
- 7. All Project Officers, Lodna Area for display in Notice Board.
- 8. Notice Board, Lodna Area.
- 9. Office copy/ M.copy

Manager North Tisra Colliery

PART – 'A' BHARAT COKING COAL LIMITED

(A Subsidiary of Coal India Ltd.) Office of the Chief Mining Engineer NT-ST Colliery : Lodna Area

TVI DI COMMIJ I ZOGNATIVA

1. Name of work	: Building of RCC Stoppings for Sectionlisation of IV seam bottom Sec. NTC under Lodna Area.			
2. Name of Contractor	:			
3. Address	:			
4. NIT Refference	: BCCL/LA/NTC/SURVEY/NIT/2010-11/102 Date - 10-11/06/2010			
5. Date of receipt of tender	: upto 3:00 PM on	05/07/2010		
6. Date of open of tender	: at 3:30 PM on 05	/07/2010		
7. Details of E.M.D.	: No. Da			
8. Money receipt No.	: No. Da	ite –		
(For issue of tender Paper)	Rs			
9. Photocopy of PAN	:			
10. Credential against experie	ence:			
11. Photocopy of PIN	:			

SIGNATURE OF ISSUING OFFICER

DECLARATION

I hereby declare that my/our firm has not been banned or de-listed by any Government or Quassi Government agencies or PSU's.

Signature of the tender with Seal/Mohar

BHARAT COKING COAL LIMITED NT-ST COLLIERY : LODNA AREA

PART - 'B'

BILL OF QUANTITY FOR THE WORK OF "BUILDING OF R.C.C. STOPPINGS FOR SECTIONLISATION OF IV SEAM BOTTOM SEC. NTC UNDER LODNA AREA

Issued to Sri/M/s -----
Vide M/R/No. ----
Sign. Of issuing authority ------

Sl.	Particular	Qnty.	Rate (Rs.)	Amount	
No.				(Rs.)	
1.	Recess cutting in coal in side	12.60 cum	162.65/cum	2,049.39	
2.	Recess cutting in stone in roof &	10.39 cum	332.45/cum	3,454.15	
	floor				
3.	R.C.C. (1:2:4)	75.14 cum	3359.60/cum	2,52,440.34	
4.	Labour charge for reinforcement	6011.2kg	10.54/kg	63,358.04	
	rod				
5.	P.B.W. (1:6) P/L	1.5cum	2,007.00/cum	3,010.50	
6.	Centering & shuttering	324.00sqm	180.40/sqm	58,449.60	
7.	Outerside cement plastering (1:6)	220.32 sqm	67.65/sqm	14,904.64	
8.	Cement plastering with punning	4.32sqm	97.90/sqm	422.92	
	for name plate				
9.	Carriage				
	i) Bricks 720 nos. @Rs.79.53 + 9(17	169.49			
	ii) Cement 24.75mt@Rs.24.68 + 9(3	1,417.18			
	iii) Sand 38.30 cum@Rs. $42.61 + 9(9.28) = 126.13$ /cum				
	iv) Chips 67.62cum@ Rs.42.61 + 9(9.28) = 126.13/cum				
	v) Rod 6.011 mt@Rs. $53 + 9(7.78) = 1$	739.47			
	· · ·				
			Total Amount	4,13,503.40	

In words: Four lakh Thirteen Thousand Five Hundred Three & Fourty paise only.				
We quoteabove/below basis at par on the estimate rate for all the above items.)	on		
Note: U/G allowance not included bill of quantity.				

Signature of the Contractor